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#include "m102.h"
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3.1 ml02_init
OO0 int m102_init(const charx device)
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3.3 ml02_q
OO int m102_q(long *xpos, long *ypos, char *ackl, char *ack2, char *ack3);
OO0 q:obooooooboboooobooooboboooooooboobooo

00 apos X OOOODODOD (DO0DODD)
ypos YOO DODOOOO (0DOOO)
ackl 0000000D0000000210000
ack? 0000000000000 O000000220000
acks 0000000000000 O000000230000

00 DO0ooooooooooooooooooboboon 10
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OO int m102_g2(char *ack3);

00 mi02qU00000ak3 0000O0OODOODO

00 ekt 000000000 ODOOOOOOOOO230000

ogboobO boobobooboobobooboob obbooDbo 1d

3.5 ml1l02_mx

00 int m102 mx(const long xmove);

00 XO0OOOO (Dobooo0)oooo M: 00000000000 OO00OooODOO
Oo0o0o00oood mio2g 00000000000

OO0 zmove XOOOOODOOODOOOODDODOOODOOOODOOODOOOOD
goooooogoon

b0 ooooooooooooobo obbboooo 1o



3.6 ml02 g
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3.8 ml02_holdx
OO0 int m102_holdx();
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3.9 ml02_releasex
OO0 int ml102_releasex();
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3.10 m102_hzerox
OO0 int m102_hzerox();
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#include <errno.h>
#include <stdio.h>
#include <stdlib.h>
#include "m102.h"

int main(int argc, char * argv[])
{

long xpos, ypos, xmove;

char ackl, ack2, ack3;



char *endptr;

if (argec !'= 2) {
printf("Usage: ’m102 <xmove>’\n");

exit(1);

}

xmove = strtol(argv[1l], &endptr, 10);

if (endptr[0] != °\0’ || errno == ERANGE || errno == EINVAL){
fprintf(stderr, "arg error\n");
exit(1);

}

m102init ("/dev/ttyS0") ;

m102_q(&xpos, &ypos, &ackl, &ack2, &ack3);
printf ("X: %1d, Y: %1ld\n", xpos, ypos);

m102_mx (xmove) ;
m102_gQ;

m102_qg2(&ack3) ;

while(ack3 == ACK3_BUSY) {
m102_q2(&ack3);

}

m102_q(&xpos, &ypos, &ackl, &ack2, &ack3);
printf ("X: %1d, Y: %1d\n", xpos, ypos);

m102close();

return O;
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